











Weight at birth (5:52am): 10 1b 1 oz

(5 o2)
12 hrs later (5:52pm): 91b 12 oz

(5 o%)
12 hrs later (5:52am + 1 day): 91b 7 oz
(s %)

12 hrs later (5:52pm + 1 day): 91b 2 oz
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Is this an arithmetic sequence?
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Class idiosyncracies:

*Tutorials M-Th 7:30am (any time in morning
Is good!)

*Deposit phone in shoe locker in order to

access bathroom pass

*Tutorial videos + e-mail message with

guestion = 10 bonus points on homework




A penny doubled for 3 weeks and you keep
the final payment onIy,

Ho.01, §0-02, “§0.04
+ocl.ag Yemevrow

Orl...

$10,000
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Which option would you choose?
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T 's learnin lective:

By the end of class, | will be able to
distinguish arithmetic sequences from
geometric and calculate n-th terms for each.

T 's lan

Arithmetic sequence
Geometric sequence
n-th term

common difference
common ratio




Find the 14th term... Challenge: Find the
) 14th term In the

1,3.9 27, ... sequence:
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Find the 11th term... ;’4 SF
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Discussion/Challenge topic:

Can a sequence be both arithmetic and

eometric?
° Q, 19, 19,19, 19 ...
Give an example regardless of your answer.

Un = Uy + (n=1)d A— fyithnddic




Is the following sequence arithmetic or
geometric?

2,3,4.5, ...
U

Regardless of your answer, find ug




In @ geometric sequence, the 10th term is
39,3664the first term is 2. Find "r."

Tems




In the arithmetic sequence,

Ug = 42 & U3 = —22; find d & U 1

U =uq+(n—1)d

Consider the sequence 2, 5, 8, 11...

Find n such that U, = 110




Consider the infinite geometric sequence 25, 5,1, 0.2, ...

(a) Find the common ratio. - 0. 2 S e
2
(b) Find ‘5‘[ o
e -

(__1__) the 10th term; 75 ( 0.2)




Consider the sequence 2, 5, 8, 11...

Find n such that Un = 110







